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¢ 2,20,202,2020 :aulill alacyl gu ga Wigi 13ac a5 @

@ How many of the following four numbers are prime:
2,20,202,2020?

. 0 060: 0: O0:

¢ ps¥l éugljll sgau amia §i .dakiia Lals dllill Glelhall @

@ In which of the regular polygons below is the marked angle the largest?

ol ) o0 e{)

slualgl Jsbwa g1)i alla Yoy Laiy anigll agull wid alualgi Jshua Cuw aasa Jay @
Ll enill Jsbwall 3ac gudi gayl alls Alisg Lagy a5 .clIAS aaigll agyll i

S‘,al,gi ﬁm)ic;n.dm;a

@ Mohammed solves six Olympiad problems every day and Khalid solves four
Olympiad problems every day. How many days does it take Khalid to solve
the same number of problems as Mohammed solves in four days?

O: 0: 0: 0O O:
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¢ padl daudll al aulill jguall i @
@ Which of these fractions has the largest value?

8+5 8 3+5 8+3 3
0 ; G3+5 e ; e ; G5+8

A g i gog yen Clayya 4 il el ppall audl & il Jsid e (5)
dllhall dahiall dalua duwi Lo .cUaS jeni alesya 4 wil penll il g all

¢ jusll gyyall dslua wll

@ A large square is divided into 4 smaller squares; then small left square is
divided into 4 smaller squares as well. What fraction of the large square is
shaded?
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331 6,0 JA1 iy i 0 Gy US wialy ey dayi oy @2l 345 dlgy oz (6)
Joog Y wlall dyallg bldi SYi wilce jlall dypall Jnoy éljla Js s huall
Y b laa sl .63alg dhdi wle @yya Js Jnag Jaleill Jha wa dhdi sl wile
¢ dlghull elaniil aey @jyall ani bldi ggasa ggau i yaay

@ There are 4 teams in a soccer tournament. Each team plays every
other team exactly once. In each match, the winner scores 3 points
and the loser scores 0 points. In the case of a draw, both teams score
1 point. After all matches have been played, which of the following
total number of points is it impossible for any team to have scored?

O: 0 0: 0O O:

Jal Lo . gAYl dulhia dlia J&ii wile laia JS db 36 ga ggSa alial JSuill @
¢ lakiia Luwlaw auny JSuill aidlal aay albl caa Jio go aac
@ The diagram shows a shape made up of 36 tiles, each tile is an equilateral

triangle. What is the smallest number of such tiles that could be added to
the shape to turn it into a regular hexagon?

O 0: O = O :
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£5,-3,-1,2,4,6} dcganall ga dalisa slacl &) U wa dabla o i
Caulc Jgnall laigay ups Yol Jéi la
Fatima wants to multiply three different numbers from the following
set {-5,-3,-1,2,4,6}. What is the smallest result she could obtain?

O:0 Q120 Q@ Qs O s

I5] 6aalg dclug ¢L|.|.uLa dagellg yalll duwjaall uledll dlebw 3 vuny GOl @
Sluila d3gellg ulaill nd Land yoiug édcln a5 .galll sleg umi
@ If John goes to school by bus and walks back, he travels for 3 hours. If he

goes by bus both ways, he travels for 1 hour. How many hours does it take
if he walks in both ways?

O:: 0O:- QO ©O- (e I

auaa tthég pall aSwil willg . 3X3 Jgaa wia (pen giya) duld JS wid sac grig ai
wa alacdl ggarag ¥n Js wid alacdl ggasa Biall guial g&lg .Jgaall Jala alacyl
¢&ulill agaell wid alacYl ggasa gan La (alial J4iilll wna Las) éalb Cuds Juagac

A number is written in each cell of a 3 x 3 square. Unfortunately, the numbers
are not visible because they are covered in ink. However, the sum of the
numbers in each row and the sum of the numbers in two of the columns are
all known, as shown by the arrows on the diagram. What is sum of the numbers
in the third column?

24
26
40

041 943 644 Q45 G47

27 20 ?

\. J
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é3g2ga alial darigall alalell .B dalll pc yay C dalilig A dalul yu Guyh jnai @
€8)gwSall daloll wilc digigall ddlwall La .Adlisa jSlal ia diyhll wile

@ The shortest path from Atown to Cetown runs through Betown. The
two signposts shown are set up along this path. What distance was
written on the broken sign?

[
Atown 2 km Atown 7 km
[] ]

Betown 4 km

|Cetown 9 km |Cetown 4 km

J |
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gualwll agyll éylmi ga .lagy 31 éaal agyll via @S 5 Jaeay yuiiai g aya 2y)i @
sall quagyl dslwall Jaoa Lo hid as 95 Lled cuiia 28 Lail aip0 as)al i

@ Maryam wants to walk 5 km on average each day in March. At bedtime
on 16th March, she realized that she had walked 95 km so far. What
distance does she need to walk on average for the remaining days of
the month to achieve her target?

gjLilsll

r( ababydl va

gl_m_dm o oo ..I PL!S" .." ... L“ﬂ_d L S0 e Ui L.I;-!

as 5.4
as 5
as 4
as 3.6
as 3.1

@ Which of the following shows what you would see when the object in the
diagram is viewed from above?

Culei go al ayhi 13l qulill Jauill €l gaww «us @
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lam)Is gi Jidll ugs) Ay gi daluull g La ikl ja wllb S Jgnall asi vg
. diall ugs) Jgarny wilhll yulaai &ilig asluwll ggarny vkl gulasi aili lea
Cdnall b yac a5 Lea Juall ugs)g daluull ggarns b dunas

Every pupil in a class either swims or rides a horse. Three fifths of the
class swim and three fifths ride horses. Five pupils both swim and ride
horses. How many pupils are in the class?

O:s O O O O

Jaey .glaaleia gl gujlgia Lol grelh S .alial atgall JSuill Lo é)lw ddyan @
Caduanll huaa la . JSiilll wilc daniga Jighl

@ Sara's garden has the shape shown. All the sides are either parallel or
perpendicular to each other. Some of the dimensions are shown in the
diagram. What is the perimeter of Sara's garden?

5

O: 02 02 O O :
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lamigl yl)glaio ylmag Ly d penll dluesall gran pen Lesa 27 yuil S il
a;gill (j.a{}s.a.a:n.c}g.si Lo us uesa clid dlhesall p..l.aadu.ll Aaxaiwl .J.a:ni
S usll uesall wia yasyi gglu Jalsll édiglall

Ana’s buys 27 identical small cubes, each with two adjacent faces
painted red. He then uses all of these cubes to build a large cube.
What is the largest number of completely red faces of the large cube
he can make?

®: 0: 0: 0O: Os

yusil gyall dalwa . pén gija g ddjlhia dMhiua dey)l ga ggSa S gio @
¢ ponll giyall dsblwa la . aw 5 Shiwall asi wia AB jhall Jghg « 2aw49

@ A large square consists of four identical rectangles and a small square. The
area of the large square is 49 cm? and the length of the diagonal AB of one
of the rectangles is 5cm. What is the area of the small square?

B
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Ay g il agju 0wy éugia duni gl .opaa Gil) ga 207, Jiay aug wil)
€aaa Jilyl Lgluo

Waleed's salary is 20% of his boss's salary. By what percentage should
Waleed's salary increase to become equal to his boss's salary?

O O 200 @ 13056 @ 4005 @ 520

30 hiall Angy olisi J&illl ddlhia dwils GleSa aladiul diaa dial ol
(yhiall 3a1 ai diaall ga aily sl ga alei y gal) duilall jhliall aalg dijaall wicl
Cdiyaall cliy diral laiaadiwl dwinll GleSall ya sac psila

Ameena made a "city" with identical wooden cubes. One of the diagrams
shows the view from above the "city" and the other the view from one of
the sides. However, it is not known from which side the side view was
taken. What is the largest number of cubes that Ameena could have used?

O:x O0:x 0 O O :
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.oLial Jauilll (14 Llas jgll Ja dehd wilc LA wa 1,2,3,4,5 alé)Vl disle cuis
Oldyh guas digba lakaog @iga LA wsljii éuny dd)gll vy duiile cuals
Slanlc Jgaall Jiniuy ddawll dduhll vl édyglell déuhll ga Oluijill ja i
(@huall g gradl jludl ga quiyill)

Aisha has a strip of paper with the numbers 1,2,3,4 and 5 written in
five cells as shown. She folds the strip so that the cells overlap,
forming 5 layers. Which of the following configurations from top layer
to bottom layer, is it not possible to obtain?
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Al . clyas 4g clyan 39 clpan 2g clg)j 3 ;v Lm.iIgJii.g.a_‘n.a).l.'ichi:il Lisal @
«yhll na jasi uesag juajhll asi wia yani ueda gdy duny Wn wid Loy
fdnia clyasll dhedall graag ddndia clyasll dheball gras AV
¢l ga guabwll uesall ggl Lo .@)ji aigl jlull ga pillell wueSallg

@ Twelve colored cubes are arranged in a row. There are 3 blue cubes, 2
vellow cubes, 3 red cubes and 4 green cubes but not in that order.
There is a yellow cube at one end and a red cube at the other end.
The red cubes are all touching. The green cubes are also all touching.
The tenth cube from the left is blue.

What color is the cube sixth from the left?

o Green
Jani

A
0o o
e Blue e @)ji
e Red Q
® ®

=Ly

Yellow

jani
Red or blue @)ji gi yanl
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el Jaii wile Jnaa alial Jaiill wia las delya dd)g vuila wvihy alij ola @
Calajall vicldl Jadl gia éuglj psi guliéd La

@ Ziad took a square piece of paper and folded two of its sides to the
diagonal, as shown, to obtain a quadrilateral. What is the size of the
largest angle of the quadrilateral in degrees?

7

Qs Q2 @z Qs O -0

wle dawdll aili Jidyg 2 wlc dawdll aani Judy alila gy)i ga lig&a laac as @
¢ 5ulc dawdll aua’ Judig 3

@ How many four-digit numbers A are there, such that half of the number A
is divisible by 2, its third is divisible by 3, and the fifth is divisible by 5?

(A N (s § O O O
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alajall arsaill din wa @il cliacyl ga giac Js vhey awyll ddjlua glis wa
whoy gl uay .ala s 4 gi 3 gi 2 gi 1 gl 0 wile La] Wilwiall Jnay Jrdibwia dwadl
AV dalwiall ge dalisa da)a @lwia JS araaill dial gac
dulmia JS alaja gganag alheall lajall yres angy aliai Jgaall
¢ aal @lwiall &L dinlll gac lalhcl will 43 )all La

G ghdadal
e [ agha| elu| Al | aal [ sbae
daall
0 ]2 JsY)
0 2 Sl
Sl
M| 4] 3 |5 |7 |gsad

In the final of the drawing competition, each of the three members of the
jury gives the five competitors 0 points, 1 point, 2 points, 3 points or 4
points. No two competitors get the same mark from any individual judge.
Adam knows all sums of the marks and a few single marks, as shown.
How many points did Adam get from judge IlI?

Adam [Baher|Samer|David| Emad
| 2 0
| 2 0
|11
Sum 7 5 3 4 11

gjLilsll

r( ababydl ca
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JS Qi Jola cuisg .gupa el ga gli J& wic baga layan Ihac cliw cuis @
alacYl ggaaa .guipl élla wile yuly wia JLS iy jeld wilc gauan Jaac
€ euall g)l.léli wle dugisaall alac)l £9a3a la .15 sgluy yuggl wilc dugisall

@ Sana writes a positive integer on each edge of a square. She also
writes at each vertex the product of the numbers on the two edges
that meet at that vertex. The sum of the numbers at the vertices is 15.
What is the sum of the numbers on the edges of the square?

O (s [ JF O o O s

Ug.Eu gl aalyi . geelall @ilhiag dygljll aild laia JSg ddslhia lals Lilin 52 JENTIREV
ClaiigQai yaay will Jighl dalisall Gleyyall aac La . lavia yaes gladiwl leyya

Sahar has 52 identical isosceles right-angled triangles.
She wants to make a square using some of them.
How many different sized squares can she make?

(A X (5 3 [ JF (D I 0O o
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45 Gigaa Geyall Sclal Aflhia fuirea oIy alasiul bel oy jac win (27)
dfuih lmaeig 655 3% 3 ga digan ddih gy ai .olial Jaill via las 6,5 4x4
dhuwlgy diiia alyall .6aalg 65 Ja Jgaii dpall ddihll 6,5 2X2 Ja digGa

Q45 gu gulai dhdi JS aic gan
¢ @anll ala blaill aac a5

@ Omar builds a pyramid with metal spheres. The square base consists of
4x4 spheres as shown in the figure. The floors consist of 3x3 spheres,
2 x 2 spheres and a final sphere at the top. At each point of contact
between two spheres, a blob of glue is placed.
How many blobs of glue will Omar place?
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Jlaa wna amijaa @dg .625X%,a10 aalesi Aunal giydl Ligjll wa Jlahi dey)i «vdy
lguing aunall ga Jlahi @i 23 aaleaiwl loaicg (uuall @lga §aa] wilc La
. 850 yeaisa Jlahi @iMill ghs .adl Iglny aunall Jga diSaa ddlua Jai
¢l I Jahll Joyl yjaall leitay i wayg jially ddbua Jéi Lo

Four children are in the four corners of a 10 m x25 m pool. Their trainer
is standing somewhere on one side of the pool. When he calls them,
three children get out and walk as short a distance as possible round
the pool to meet him. They walk 50 m in total. What is the shortest
distance in meters the trainer needs to walk to get to the fourth child?
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JS dcpug Gagll yudi i dluull Igiay .§p3 diluw nd 20wg jaug dabwi il
Wl 235 aewl widsig A15 )3yl widyi dlaill dalwi Jog loaic dili asia
Alanill Jay 022 aowl wiéli dilaill )31 Jog Laaicg éylaill
¢ jially @luwll débwa v La

Osama, Bader and Saad ran a race. They started at the same time, and
their speeds were constant. When Osama finished, Bader had 15 m to run
and Saad had 35 m to run. When Bader finished, Saad had 22 m to run.
What is the distance in meters they ran?

/N , Y L

VAN

N7/
VAN
N/
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ala)i

laaiila pé qa gal ghan glag) (4 1] 3| 2
.aiils yuag ann ady [ 9(( 81| 2 || 6

aiily ue qa gal apan Al ad)g aiilh viag adn ad) |5 | 0|[ 7|9
aiila pe wa gal anaay |2 |[ 7 || 4|1

Aaunn pe ala))l o (7 (| 6] 4] 2

de)l ya ggaallg aaa¥ spull adjll jc dlagleall jaes yihei alial aljLell

The statements below give clues to the identity of Ahmad's four-digit

password.
411113
91|82
5107
2171 4
7161 4

What is the last digit of the Ahmad's password?

gjLilsll

r( ababydl ca

€ aaa¥ spull adyll aladl ad) ga la

Two digits are correct but in the wrong places.
One digit is correct and in the right place.

Two digits are correct with one of them being in the right
place and the other one in the wrong place.

One digit is correct but in the wrong place.

None of the digits are correct.
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TOTAL SCORE: 120



